Quiz Le23

1. 
The equation relating the acceleration of two points on the same rigid body undergoing plane motion is (circle all the correct answers):
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2.  If 
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3. 
After substituting into the acceleration equation relating two points on the same rigid body and taking the appropriate cross products the following result is obtained:


[image: image11.wmf]j

ˆ

85

i

ˆ

85

i

ˆ

2

.

0

j

ˆ

2

.

0

i

ˆ

60

j

ˆ

a

c

-

-

a

+

a

-

=


Solve for ac and .

_979449962.unknown

_979450062.unknown

_979450204.unknown

_979451060.unknown

_979450102.unknown

_979450029.unknown

_979449773.unknown

_979449896.unknown

_979449932.unknown

_979449870.unknown

_979449594.unknown

